ECUACIONES IRRACIONALES

Problema 42

Resolver:

VX2 +4x+8+/x2 + 4x+ 4 =/2x2 + 8x + 12

Solucion Problema 42:

VX2 +4x +8+/x2 +4x + 4 =+/2x% + 8x + 12
Sabemos que:
x% +4x +4 = (x+2)*

Luego:

Va2 +4x + 84+ (x+2)% =+/2x2 +8x + 12

VX2 4+ 4x + 8+ (x+2) =/2x2 + 8x + 12

Elevamos ambos miembros al cuadrado:

[Vx2+4x+ 8+ (x+2)]2 = (2x2 + 8x + 12)2

Y desarrollamos:

(X2 +4x+8)+ (x+2)%+ 2 (x2 +4x +8) - (x +2) = 2x% + 8x + 12

X2+ 4x+8+x2+4x+4+2(x2 +4x +8) - (x+2) = 2x% + 8x + 12

2x% +8x + 12+ 2y/(x2 + 4x + 8) - (x + 2) = 2x% + 8x + 12

2x% +8x+12—2x2 —8x— 12+ 2/ (x2 +4x +8) - (x +2) = 0

2/ (x2+4x+8) - (x+2) =0

JEZ+4x+8)-(x+2)=0

Elevamos ambos miembros al cuadrado:

[ (x% + 4x + 8) - (x + 2)]? = 02

(x?2+4x+8)-(x+2)=0
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Luego:
x> +4x+8=0

_ —4+V16-32 —4+vV-16

> > = no tuene solucion en R

X

O bien:
x+2=0

X=-2
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